
Version 24.08.16

ASSEMBLY INSTRUCTIONS

E-mail: info@gtracingchair.com

www.gtracing.com

If you have any questions about the product, please 
contact us through the contact information on the left. 
We will try our best to solve your problem within 24H
(except weekends and holidays).

READ THIS MANUAL
Do not use this product until you read and understand the 
instructions in this manual. 
KEEP THIS MANUAL FOR FUTURE REFERENCE. 

This manual is intended for installation and use.The pattern
should be subject to the product you receive.

Installation QR code



Back Seat

Gas Lift Connector

Mechanism

Gas Lift Cover Headrest Angle Adjustor

Lumbar Pillow

Base

j1

j2

Caster Footrest

Expand the connector 
as shown.

� E-mail: info@gtracingchair.com Web: www.gtracing.com

1. Main Parts

Please check and ensure all the things are in the package.Accessory Details



Dust Cover Armrest

i1

i2
i4

i3

   i3 is pre-installed
   on top of

i3
i2

M8*20 4pcsM5*8 5pcs

CAP 4pcs

M6*20 5pcs M6*20 4pcs

M8*25 16pcs M6*35 4pcs�

M8*25� 4pcs

Wrench Footrest Rail

��

�E-mail: info@gtracingchair.com Web: www.gtracing.com

2. Screws and Other Parts

◆ Please check and ensure all the things are in the package. 
    Please contact us if something is not included. We will reply 
    within 24 hours and try our best to solve it.



Install the base.

Snap on the ground to align the 
screw holes.

j2

j1

� E-mail: info@gtracingchair.com Web: www.gtracing.com

�

�

�

�
�

Insert the casters. Install the gas lift and insert the gas 
lift cover.

M6x20

x5
�



    is pre-installed on    , check if the installation direction 
is as shown below.

    

Point 1:       The direction of the notch as shown in the diagram.

Point 2:       Buttons facing outward as shown in the image.

i3

i2     

i2i3

i4

i3

i2

i2i2
w

The labeled surface
 should face outward.

Install     into     with screws �.i4 i3

Please install as shown in the diagram and note the direction of the buttons.

Point 1:

Point 2

Points to note

M8x25i4

i3

t

t

�E-mail: info@gtracingchair.com Web: www.gtracing.com

M8x25

x4
�



P
A
C

K
IN

G
 B

O
X

� E-mail: info@gtracingchair.com Web: www.gtracing.com

DO NOT tighten all the screws completely 
until they are fixed in the correct position.Attention

Install the mechanism, armrests and footrest rails.

M8x20

x4
� M8x25

x8
� M6x35

x4
�

i4

y



�E-mail: info@gtracingchair.com Web: www.gtracing.com

    
Place seat on the gas lift.

M8x25

x8
�

DO NOT tighten all the 
screws completely until 
they are fixed in the 
correct position.

Install             on the seat and back. f & m 



� E-mail: info@gtracingchair.com Web: www.gtracing.com

1 

2 

　　　　

    

Then install � & � on the back.

First install � & � on the seat.

Put M5*8 screws through the holes of    &   and tighten 
them, and then put the caps on.

M5x8

x2
�

CAP

x2
�

Installation of angle adjustor and connector 



�E-mail: info@gtracingchair.com Web: www.gtracing.com

Attach the headrest.

UP
Down

Method 1

Method 2

* Length-adjustable belt

The belt can be adjusted up or down as needed.

Front Back

Front Back

Install    &    with M5*8 screws, and then put the caps on.

M5x8

x2
�

CAP

x2
�



� E-mail: info@gtracingchair.com Web: www.gtracing.com

Attach the lumbar pillow.

Install part of the armrests. 

M6x20

x4
�

v v
M6x20

i1

Front

Lift the armrests and 
seat to the highest 
position for installation.

Install     in the direction 
shown by the arrow on    .  

i1

i1

TIPS



�E-mail: info@gtracingchair.com Web: www.gtracing.com

Insert the footrest into the footrest rails.

o

� M5*8

h

Attention

Please refer to the 
diagram for the 
front and back 
sides and proceed 
with caution 
during installation.

y

M5x8

x1
�



� E-mail: info@gtracingchair.com Web: www.gtracing.com

Lift up the button on the side of the 
armrest to adjust the height, raise or 
lower to the desired position.

Lift the tilt angle adjustor to recline and release it to any 
desired position. Lean on back when resetting back to its 
normal position to prevent hurts from excessive rebound 
strength of the chair.

Tilt angle adjustor



�E-mail: info@gtracingchair.com Web: www.gtracing.com

Pull upward on lever 
to achieve height adjustment.

Warning

GTRACING products are designed with safety in mind. However, 

improper use of any electrical product can potentially result in fire 

hazards or electrical accidents, which can be extremely dangerous. 

To prevent such incidents, please adhere to the following guide-

lines:

1) Keep the speaker away from heat sources such as radiators, 

heaters, and other heat-generating devices (including amplifiers).

2) Avoid using the speaker in areas with moisture or humidity. Do 

not use the speaker near sinks, bathrooms, kitchen sinks, laundry 

sinks, damp basements, or swimming pools.

3) When cleaning, do not use wax, benzene, insecticide liquids, 

or air fresheners. Please use a damp cloth for cleaning.



� E-mail: info@gtracingchair.com Web: www.gtracing.com

GTRACING products are designed with safety in mind. However, 

improper use of any electrical product can potentially result in fire 

hazards or electrical accidents, which can be extremely dangerous. 

To prevent such incidents, please adhere to the following guide-

lines:

1) Keep the speaker away from heat sources such as radiators, 

heaters, and other heat-generating devices (including amplifiers).

2) Avoid using the speaker in areas with moisture or humidity. Do 

not use the speaker near sinks, bathrooms, kitchen sinks, laundry 

sinks, damp basements, or swimming pools.

3) When cleaning, do not use wax, benzene, insecticide liquids, 

or air fresheners. Please use a damp cloth for cleaning.

Please use the chair properly to prevent 
any potential safety accidents.

DO NOT place only 
your back on 
the chair

DO NOT push down
on the backrest when 
a person is reclined

DO NOT turn the chair 
around when a person 

is sitting in it.

Sit in the center of
the chair with your
back to the backrest.

DO NOT sit at
the front edge of
the chair.

DO NOT stand
on the chair.

DO NOT use the 
chair with more 
than one person.



�E-mail: info@gtracingchair.com Web: www.gtracing.com

Use this chair for seating only one person at a time.

DO NOT stand on the chair, DO NOT use the chair as 

stepladder.

DO NOT use the chair unless all screws are firmly 

secured.

Avoid contact with sharp objects to prevent puncturing 

the fabric.

Every 6 months, check all screws to ensure they are 

all tight.

To clean, spot clean only needs a damp towel and mild 

cleaner, first test on a small obcure area of fabric.

SAFETY INFORMATION



Dear Customer,

Thank you for choosing us.

GTRACING has been implementing its brand and design concept “BE COOL BE FREE",  

and we are dedicated to enriching gaming and shopping experience for customers.

For safe use, please read this manual before installation, and keep it for after use. Please 

feel free to email us if you have any concerns about our products. We‛ll reply within 24 

hours.

The following are the things you need to pay attention to so that we can provide you with 

services when you encounter problems during the installation and use of the product:

•  When the product is damaged due to courier problems, please contact our customer 

service in time 

    for verifcation. 

•  We will rectify the issue as soon as possible;

•  We give 1-year quality assurance.

We offer product explanations, installation instructions, product maintenance and mainte-

nance 

methods.

If you feel satisfied with our product and service,

•  Please set our store as your favorites;

•  Please recommend our products to your friends;

•  Please leave us your purchase experience in our store or product page.

Feedback or reviews from you will greatly help us offer better services to players around 

the world. 

                                                                                                     Best regards！

＊ ATTENTION! During installation, DO NOT tighten the screws completely until all the 

    screws are fixed in the correct position.

E-mail: info@gtracingchair.com

Web: www.gtracing.com

If you have any questions about the product, 
please contact us through the contact information 
on the left. We will strive to resolve your problem
within 24 hours on business days.


